CARTE 31

—
=
w
=
(i)
=
=
o
(==
—
>
=
)
=
(ee)
[=]
(%]
i)
—
=
<<
wv
(=]
o
=
o
S
(%]
(i)
[=]
[ie)
wv
>
a
<<
=
<<

9('9LUO0Y|BM JUBWIAUUOILAUD IRID//:d13y

YNW3Q - €090 - MdS ‘3240 - €090 - MdS :5924n0S - £T0Z MIFY

Nea,p S3S5eW 4G€ Y101
9BJINS 3P NeD,p BSSBW dp WL —

anbiydeiboipAy uisseq-snos ap L] —

— %€y
%L2T 99uLLLIBIRPUT W

%62 - 0] :esteane
R loz - 0] :esteAne m

%01y

%9'€T

loy - 02] :au0tpa @
(%) 2111ENb 9p 9sse) Bnbeyd 109 - o] :auuskow [
inod nea,p sassew ap aiquiou np ped Jog - 09] :auuog m

08 Z :3UU0q S| W

(€102-6002)
anbibojoydiowoipAy a3tienb ap sasse))

JeAe asnap

sA1-1neas3

6 NV3 &

INDI90TOHdYOWOYAAH I1ITVND 30 TvE019 IIIANIT NOT3S IIV4¥NS 30 Nv3I.A SISSYW S3a 1vi3

300



